Fluid Mechanics Homework 3.2
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Paragraph

Unlike series pipelines where Q is equal throughout the pipe, Q is equal to the sum of all the Q'sin a
parallel system. Additionally, total head loss is equal throughout the system. These two laws make up the
Hardy Cross method. In a typical problem, it's best to set your reference points at the entrance and exit
of the pipe where the flow rates are equal. It is important to break up large equations in excel. Doing this
makes them significantly simpler to complete and type in. It also makes it easier to find mistakes in the
equation that may have been caused by typos. When a massive equation is put into excel, it can be very
tricky to copy it over perfectly so, while breaking up the problem into multiple terms in different cells
may feel needlessly time consuming, it is the safest way to do it if you are inexperienced in excel. This
includes taking every value you know and plugging it in so that you can simplify it to a greater degree,
and then using excel to take care of the rest of the problem.

A few other useful excel tricks and tidbits that were learned this week were using f4 to ock a particular
cell into an equation and using the symbol font to quickly put in Greek letters. In the past | have looked
up the Greek letters on Google and then copy-pasted them into my reports and documents, but this trick
made it much faster. Using f4 to lock cells into equations was useful as well because it meant that | could
just drag the equations down without having to use a constant. It was much d just drag the equations
down without having to use a constant. It was much easier to just reference the cell and put f4 on it
rather than typing in its value into the equation.



